Structured Flowcharts

grammar StructuredFlowDiagrams
nonterminal D(2), Stmt(2), S(0);
terminal begin(1l), stop(1l), action(2), pred(3);

start S;

510 ::= begin(x) D(x,y) stop(y) [ init ]

D(x,y) 1= Stmt(x,y) [ single ]
|  Stmt(x,z) D(z,y) [ seq ]

Stmt(x,y) ::= action(x,y) [ action ]
| pred(x,u,v) D(u,y) D(v,y) [ alt ]
| pred(x,z,y) D(z,x) [ while 1]

end

Structured flowcharts are not PSR because the CFA has conflicts (see below). This CFA is somewhat special
because parameters, different from all other examples considered so far, can not only refer to a single node of
the host graph, but to an arbitrary number. This is the case for formal parameter a in states ¢a2(a, b*, ¢, d)
and gio(a,b,c*). To indicate these multi parameters, they are marked with an asterisk. The multi value is
obtained by two transitions leaving from ¢s(a, b*, ¢, d) where the value of the target parameter is determined
by expressions a - b and b - a, respectively. These expressions mean that the value of b, i.e., a list of nodes,
is concatenated with the value of a, i.e., a single node. That way, a longer list of host nodes is obtained and
assigned to to corresponding formal parameter. Whenever such a multi parameter is used, any of its assigned
host nodes can be used, for instance in the second transition leaving ¢2(a, b*, ¢, d), indicated by the condition
Ji:ng = ¢,n1 = b;. b; stands for the node at position ¢ of the list being the value of b. But as this grammar is
not PSR, this has no effect on a parser.

Characteristic finite automaton(CFA):
Note: State gg has conflicts

State go(a,b)
[ S() — -begin(a) D(a,b) stop(b) |

begin
—pegintiol, gy (no. b

State g1(a,b

~—

S() — begin(a) . D(a, b) stop(b)
D(a,b) — .Stmt(a, b)
D(a,b) — .Stmt(a,n1) D(nq,d)
Stmt(a,b) — .action(a,b)
Stmt(a,b) — .pred(a,nz2,n3) D(nz2, b) D(ng, b)
Stmt(a,b) — .pred(a,ny,b)D(ny,a)
Stmt(a, ns) — «action(a, ns)
Stmt(a, ng) — « pred(a, nz, ng) D(nz, ng) D(ng, ne)
Stmt(a, ng) — «pred(a,nig, ng) D(ni0, @)

D(no,

DUt o(rg,m)

Stmt(ng, n1) b

no = a’an q7(n07 7”1)

Stmt(ng, n

no :(a?mli b qs5(no,n1)

action(ng, n

no = 6(177901T1) q2(no,m1)

action(ng, n1) ¢ (no, 1)

Nno =a,n; = b
pred(no, n1, n2)

no = a,niT, nat
pred(ng, ni, nQ)

no = aa”lT?”Q =b

q3(no, b,n1,n2)

q4(n07n27n1)

State g2(a,b)
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D(c,a) — . Stmt(c, a)
D(c,a) — .Stmt(e, n2) D(ng, a)
D(e,n3) — . Stmt(c, n3)
D(e, n4) — . Stmt(e, ns) D(ns, nyg)
D(c,d) — . Stmt(c, b)
D(c,b — . Stmt(c, ne) D(ng, b)
Stmt(c,a) — .action(c,a)
Stmt(c,a) — .pred(e,ny,ng) D(ny,a)D(ng, a)
Stmt(e,a) — .pred(e,ng,a)D(ng,c)
Stmt(e, n1g) — «action(c, n1g)
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State gs(a,b)
[ D(a,b) — Stmt(a,b). [single] |

State gg(a, b, c*)

D(a,b) — Stmt(a, b). [single]
D(a,n1) — Stmt(a,b) . D(b,nq1)

D(a,c) — Stmt(a b) . D(b,¢)

D(b7 ’I’LQ) — mt(b, 2)

D(b, ng) — . Stmt(b, 4) (Tl4, Tl3)

D(b,¢) — . Stmt(b, ¢)

D(b,¢) — . Stmt(b, n5) D(ns, €)

Stmt(b,ng) — .action(b, ng)

Stmt(b 717) — . pred(b, ns, Tlg) D(ng, TL7) D(’ng, 717)
Stmt(b, 'fl10) — pred(b, nii, nlo) D(nn, b)
Stmt(b,¢) — .action(b,c)

Stmt(b,c) — .pred(b, n12,n13) D(n12, ) D(n1s, €)
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Conflicts:

e shift pred(b, o, 0), reduce single, shift action(b, o)

State g7(a, b, c)

D(a,b) — Stmt(a, c) . D(c, b)

D(c,d) — .Stmt(c, b)
D(c, b) — .Stmt(e,n1) D(nq, b)

Stmt(e, n2) — «action(c, n2)

Stmt(c,n3) — . pred(c, ng, ns) D(nq, n3) D(ns, n3)
Stmt(e, ng) — . pred(c, n7,ne) D(n7, ¢)

Stmt(e,b) — .action(c,d)

Stmt(e,b) — .pred(c, ng,ng) D(ng, b) D(ng, b)
Stmt(c,b) — .pred(c, nig, b) D(n19, €)
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[ D(a,b) — Stmt(a, c) D(c, b).
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State go(a,b)

[ S() — begin(a) D(a,b) . stop(b) |
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State gio(a,b,c,d)

Stmt(a,b) — pred(a,c,d)D(c,b) . D(d,b)
D(d,b) — . Stmt(d, b)
D(d,b) — . Stmt(d, n1) D(nq,b)
Stmt(d,b) — .action(d,bd)
Stmt(d,b) — .pred(d, na,n3)D(ng,b) D(ns,b)
Stmt(d,b) — .pred(d,nq,b)D(n4,d)
Stmt(d, ns) — «action(d, ns)
Stmt(d, ns) — . pred(d, nr, ng) D(n7, n6) D(’I’Lg, ’I’Lg)
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| Stmt(a,b) — pred(a,c,b)D(c,a). [while]]
State g12(a,b)
[ S() — begin(a) D(a, b)stop(b) . [inif]|

State q13(a, b, c,d)

| Stmt(a,b) — pred(a, c,d) D(c,b) D(d, b).
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